NEW RATES & HOURS - GARAGES

CURRENT	PROPOSED	RESCINDED		
Daily Rate and Hours of Operation				
90 minutes free \$1.00 every 30 minutes \$8.00 Daily Max All Garage Mon-Fri 7am-5pm Garage 3, 6, & 7 Mon-Fri 9am-5pm Garages 1 & 2	60 minutes free (web app or pull a ticket) \$1.25 every 30 minutes w/ \$.25 increase every five years, starting Yr. 5 \$15.00 Daily Max All Garages w/ \$5.00 incr. in Yr. 3 (\$20.00 cap) 24/7 Operation	No free parking option \$1.00 every 30 minutes \$16.00 Daily Max Garages 2 & 6 \$20.00 Daily Max Garages 1, 3, & 7 24/7 Operation		
Nightly Flat Rate				
\$5.00 Evening flat rate Thur-Sat 9pm-1am All Garages	\$10.00 w/ \$5.00 increase in Year 3 (\$15.00 cap) Mon-Sun 7pm-3am All Garages	\$12.00 Evening flat rate Mon-Sat 8pm-1am All Garages		
Festival of Lights (FOL)				
\$10.00 FOL at event (no specified garage) \$5.00 FOL pre-paid (no specified garage)	\$15.00 FOL at event rate with \$5.00 increase in Year 3 (\$20.00 cap) \$10.00 FOL pre-paid rate using web-app with \$5.00 increase in Year 3 (\$15.00 cap)	\$15.00-\$30.00 (location-dependent Pre-paid locations (not specified) \$10.00-\$15.00 pre-paid options		
Discount Employee Parking Program				
\$25.00 per month Part-time employee making \$15/hour or less. Mon-Fri 5am-5pm	\$24.00 per month Any employee making \$24.00/hour or less 24/7 with 12-hour flexible arrival window	\$50.00 per month Part-time employee making \$18/hour or less. Mon-Fri 6am-6pm		
Note regarding free parking: total of <u>90-minutes in aggregate per day</u> across all facilities Cost of web-app fees subsidized by City				



NEW RATES & HOURS - GARAGES

CURRENT	PROPOSED	RESCINDED	
Monthly Permits			
Unreserved Monthly Permits \$60.00 - \$80.00 Garage Dependent Mon-Fri 5am-6pm	Monthly Unreserved Weekday Permits \$85.00 All Garages w/ \$15 annual increases through Year 8 (\$190.00 cap) Mon-Fri 5am-7pm (using web-app)	Unreserved Daytime Permits \$95-\$190 Location Dependent* *Required separate Weekday & Weekend Permits	
Reserved Monthly Permits \$135.00 All Garages Mon-Fri 5am-6pm	Monthly Reserved Weekday Permits \$150.00 All Garages w/ \$20 incr. through Year 8 (\$290.00 cap) Mon-Fri 5am-7pm	Reserved Monthly Permits \$400.00 All Garages Mon-Fri 6am-6pm Legacy Customers Start at \$205	
Not Offered	**NEW** Downtown 24/7 Permit Program \$115.00 All Garages w/ \$15 annual increases through Year 8 (\$220.00 cap)	Not Offered	
Special Event Rate			
\$5.00 per vehicle Weekdays and Weekends - Garage 7 Outside normal hours – All Garages	\$10.00 per vehicle pre-paid using web-app with \$5.00 increase in Year 3 (\$15.00 cap) \$15.00 per vehicle at event with \$5.00 increase in Year 3 (\$20.00 cap)	\$16.00-\$20.00 Location Dependent No pre-paid discount	
Validation Program			
Optional validation Booklet System	Optional electronic + ticket validation	Optional Validation Booklet System	



NEW RATES & HOURS - LOTS

CURRENT	PROPOSED	RESCINDED	
Daily Rate and Hours of Operation			
No free parking option Mon-Fri 9am-5pm \$.75 every 30 minutes – Lots 1, 3, 12, 16, 18, 27, 33 and Main Library Mon-Fri 7am-5pm \$1.00 every 30 minutes – Lots 19 & 38 (Justice Center)	*New* 60 minutes free (using web-app) Mon-Fri 5am-7pm \$1.50 every 30 minutes w/ \$.25 increase every five years, starting Yr. 5 No Time Limit Weekends & holidays remain Free	No free parking option Mon-Sat 7am-10pm \$1.25 every 30 minutes – All Lots	
Nightly Flat Rate			
Not Offered	\$10.00 w/ \$5.00 increase in Year 3 (\$15.00 cap) Mon-Sun 7pm-3am All Lots	Not Offered	
Festival of Lights (FOL)			
\$10.00 FOL at event (no specified lot) \$5.00 FOL pre-paid (no specified lot)	\$15.00 FOL at event rate with \$5.00 increase in Year 3 (\$20.00 cap) \$10.00 FOL pre-paid rate using web-app with \$5.00 increase in Year 3 (\$15.00 cap)	\$15.00 No Pre-Paid Discount	
Discount Employee Parking Program			
\$25.00 per month Part-time employee making \$15/hour or less. Mon-Fri 5am-5pm	\$24.00 per month Any employee making \$24.00/hour or less 24/7 with 12-hour flexible arrival window	\$50.00 per month Part-time employee making \$18/hour or less. Mon-Fri 6am-6pm	



NEW RATES & HOURS - LOTS

CURRENT	PROPOSED	RESCINDED		
Monthly Permits				
Unreserved Monthly Permits \$50.00 Lots 3, 12, 16, 18, 19, & 27 Mon-Fri 5am-6pm	Monthly Unreserved Weekday Permits \$85.00 All Lots w/ \$15 annual increases through Year 8 (\$190.00 cap) Mon-Fri 5am-7pm (using web-app)	Unreserved Weekday Daytime Permits \$110 Lots 3, 12, 16, 18, 19, & 27 Mon-Fri 6am-6pm		
Reserved Monthly Permits \$135.00 Lots 3, 12, 16, 18, 19, & 27 Mon-Fri 5am-6pm	Monthly Reserved Weekday Permits \$150.00 All Lots w/ \$20 incr. through Year 8 (\$290.00 cap) Mon-Fri 5am-7pm	Reserved Monthly Permits \$400.00 Mon-Fri 6am-6pm Legacy Customers Start at \$205		
Not Offered	**NEW** Downtown 24/7 Permit Program \$115.00 All Lots w/ \$15 annual increases through Year 8 (\$220.00 cap)	Not Offered		
Special Event Rate				
Not Offered	\$10.00 per vehicle pre-paid using web-app with \$5.00 increase in Year 3 (\$15.00 cap) \$15.00 per vehicle at event with \$5.00 increase in Year 3 (\$20.00 cap)	Not Offered		
Validation Program				
Optional token system	Optional electronic or printed validation	Optional token system		
lot Offered Iot Offered	**NEW** Downtown 24/7 Permit Program \$115.00 All Lots w/ \$15 annual increases through Year 8 (\$220.00 cap) Special Event Rate \$10.00 per vehicle pre-paid using web-app with \$5.00 increase in Year 3 (\$15.00 cap) \$15.00 per vehicle at event with \$5.00 increase in Year 3 (\$20.00 cap) Validation Program	Not Offered Not Offered		



NEW RATES & HOURS – ON STREET METERED SPACES

CURRENT	PROPOSED	RESCINDED		
Daily Rate and Hours of Operation				
No free parking option Justice Center – Metered Spaces Mon-Fri 7am-5pm \$1.00 every 30 minutes All other downtown – Metered Spaces Mon-Fri 9am-5pm \$.75 every 30 minutes No time limit Weekends & holidays free	*New* 30 minutes free (using web-app) Justice Center – Metered Spaces Mon-Fri 7am-7pm \$1.50 every 30 minutes w/ \$.25 increase every five years, starting Yr. 5 All other downtown – Metered Spaces Mon-Fri 8am-7pm No time limit Weekends & holidays remain free	No free parking option All Metered Spaced Mon-Sat 7am-10pm \$1.25 every 30 minutes 4-hour time limit No Sundays or holidays		
Validation Programs				
Optional token system	Optional electronic or printed validation	Optional token system		
Special Events				
Special event hosts on-street responsible to pay for meter fees during regular business hours / fee hours	*New* Special events will not be responsible to pay for meter fees	Special event hosts on-street responsible to pay for meter fees during all fee hours		



Note regarding free parking: total of <u>90-minutes in aggregate per day</u> across all facilities Cost of web-app fees subsidized by City